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#include<stdio.h> (]

int main()

{
FILE *dat:
float x, y;
int 1
float XiYi, Xi2;
fleoat a;

dat = fopen("test.dat","r");

XiY1i = 0

Xi2 = 0;

for(i=1; i<=5; 1i++){
fscanf(dat,"%f, %f", &x, &y):
printf("x = %f, yv = %f \n", %, y);
XiYi = XiYi + x*y;
X12 = Xi12 + x*x;

}

printf("XiYi = %f, Xi2 = %f \n", XiYi, Xi2):
a = X1Yi/Xi2;

printf("a = %f \n", a):

fclose(dat);

return 0; =
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x = 2.000000, y = 20.100000
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#include<stdio.h>
int main()
{
FILE *dat;
float x, y;
int 1s
float Xi¥i, Xi2, Xi, Yi;
float a, b, n = 5;
dat = fopen("test-Z.dat","r");
XiYi = 0;
Xi2 = 0
X1 = 03
Yi = 0;
for(i=1; i<=n; 1i++){
fscanf(dat,"%f, %f", &x, &y);
printf("x = &£, y = &L \n", x, y);
XiYi = XiYi + x*y;
Xi2 = Xi2 + x*x;
Xi = Xi + x;
Yi = Yi + y;
I3
printf("¥i¥i = %f, Xi2 = &f, Xi = %f, Yi = &f \n", XiY¥i, Xi2, Xi, Yi);
a = (n*XiY¥i - Xi*Yi)/(n*Xi2 - Xi*Xi);
b = (Xi2+Yi - XiYi*Xi)/(n*Xi2 - Xi*Xi);
printf("a = %f£, b = &f \n", a, b);
fclose(dat);
return 0;
r
C~v S7OWE: 6~ (3197.15)

A

X 4 : test-4d.c
T ME

SRIDTO T T LTIET =R,V FOBPERINLEIc 7077 06% (n OWHEEZ) FHE

oz 20BN H 5, Nz T720I12F for XDEZAZRD X HITESHZUIE Y,
D for XDEAFEEHZ T 7 ABIEFIET 2 2 & 2HERE X,

n=0;

while(1){
fscanf(dat,” %f, %", &x, &y);
if(feof(dat)){break;}
printf("x = %f, y = %f”, x, y);
XiYi = XiYi + x*y;
Xi2 = Xi2 + x*x;

Xi = Xi+ x;
Yi=Yi+y;
n=n+ 1;
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